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l̂t = 1− τt
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t τt = Q(Z(τt−1)) nt−1 nt

t− 1

t+1 nt+1

τ̄ p̄ z̄



τt+1 > τt = τ̄ zt+1 < zt = z̄

pt+1 = pt = p̄
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T ppaygT+1/(1 + r) T + 1

ppaygT+1

T + 1

T +1

T

τ ∗t τ









τt t

τt



R









τe/1 + n

τe



δ



δ

ρ

τe τp

τp τe ρ
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t
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t
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yt

μt kt τe τp

kt+1 τp,t+1

t



t ωi

ω̂ F

μt+1 = 1− F (ω̂t)
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